
Wall Max 

Wall Mount
Plate

Optional: Guard

Wall Max

Designed & Made
in the USA

- 7/16” Socket
- Drill
- Tape Measure
- Pencil

1/4” Washer1/4” x 2”
Lag Bolt

5/16” Stopnut 5/16” Washer



Locate a Wall Mount Plate and
lay down with pems facing up.

(Optional) If you have a Guard, place the top holes onto the Wall Mount Plate pems.  



Next, align the two top
holes of the Wall Max with
the pems on the Wall
Mount Plate. Secure using
(2) 5/16” Washers and
(2) 5/16” Stopnuts.

Optional:
Guard 

Wall Max

Secure the Wall Max to the wall using
1/4” x 2” Lag Bolts and 1/4” Washers.



16” 16” 16” 16” 16”

10” 19”

36”
Minimum
Loading
Aisle

42” Minimum
 for bikes

42” Minimum
 for bikes

We recommend 16” on-center spacing between racks

and staggered heights, as shown


